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1. In the Indian context, consider the following statements:  

1) Only the Scheduled Commercial Banks are mandated to maintain a Capital Adequacy 

Ratio which will be determined by the Reserve Bank of India on a monthly basis. 

2) Capital infusion by the Government of India can increase the Capital Adequacy Ratio 

of the Public Sector Banks. 

Which of the above statement(s) is / are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

2. Which of the following are excluded while calculating „Refined Core‟ Inflation in India?  

1) Packaged tender coconut water  

2) Diesel for Hybrid Vehicles  

3) Soy beverages  

Select the correct answer using the code given below.  

a) 2 only  

b) 2 and 3 only  

c) 1 and 3 only  

d) 1, 2 and 3 

 

3. “Sweet Revolution” is related to  

a) Development of scientific beekeeping  

b) Increasing the exports of Raw Milk  

c) Increasing the exports of processed milk products  

d) Promotion of Sugarcane cultivation 

 

4. With reference to the Indian Constitution, the subject „local government‟ is  
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a) Mentioned in Union List  

b) Mentioned in State List  

c) Mentioned in the Concurrent List  

d) Not mentioned in any list under Schedule VII 

 

5. Consider the following statements: 

1) The Pardoning power of the President extends in cases where sentence is by a Court 

Martial, but the Governor does not have such power. 

2) The President can grant pardon in all cases, even the death sentence but the pardoning 

power of the Governor does not extend to death sentence cases 

     Which of the above statement(s) is / are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

6. With reference to certain economic terms which have been in the news recently, consider 

the following statements: 

1) Stagflation is when an economy experiences high inflation, sluggish growth, and high 

unemployment all at the same time. 

2) The Phillips Curve is an economic hypothesis that states that inflation and 

unemployment are inextricably linked. 

     Which of the above statement(s) is / are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

7. The terms Jaapi, Xorai and Gamosa, recently seen in the news, belong to which of the 

following states? 

a) Assam 

b) Gujarat 
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c) Karnataka 

d) Sikkim 

 

8. With reference to the e-waste management in India, consider the following statements: 

1) Maharashtra is India's leading e-waste producer. 

2) The Ministry of Electronics and Information Technology published the E-Waste 

Management Rules, 2016 

     Which of the above statement(s) is / are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

9. The object of the Butler Committee of 1927 was to? 

a) Define the jurisdiction of the Central and Provincial Governments. 

b) Define the powers of the Secretary of State for India. 

c) Impose censorship on national press. 

d) Improve the relationship between the Government of India and the Indian States 

 

10. With reference to Indian history, which of the following is/are the essential elements of the 

feudal system? 

1) A very strong centralized political authority and a very weak provincial or local 

political authority 

2) The emergence of administrative structure based on control and possession of the land 

3) Creation of the lord-vassal relationship between the feudal lord and his overlord 

Select the correct answer using the code given below. 

a) 1 and 2 only 

b) 2 and 3 only 

c) 3 only 

d) 1, 2 and 3 

 


